Pt —

2016/06/14 4%
RFEVEBORTRE
EHUELE

— -~ RAR-K#% (LC-MRBSRAL KR LMA:

o —EHRAGEITIORSWN  BHAFHLEFEFTALT:

HM B+ SR REHEREH= 1,500 T
o FEMLMRM—ERAUE:

M E RN REHR S FERAAARERM E=1,500 t500 +500= 2,500 T/ 4
o HuBm—EHERKE:

BAHE R+ R AT R =2, 000%2 +500= 4,500 T/4 &

=~ 600 MHz =t RAR AU F L5

o — kot 1 BHRA - E3tRMEFH A L00 L HET K0T

NMR # A #kau® +RAR&E#E = 300 + 200 = 500 ©
° FARBMRA —EHKAIUE:

#M B R REHR B F AR AR (SIRE) AR H=500+500+500= 1,500 7./ 48
o HuBEfm— AR E:

BAHE Rk AT R =1, 000%2 +500= 2,500 T/t A&




